R R i o

'|") %R

RONTIM

RIRLZIT B R

SFI RFIFERT &

QihFL
(Oil hole)

BA{imm

AR S | S| 208 R~ THEE | FEUE
Modelno. | & 7| & A | A
| d | Da D|A|[B|L|W|H]|X]|Y z Q n Ca Coa
SFIR1605-4 5 |3.175|/30 | 49 | 10 | 50 | 39 | 34 [4.5| 8 |4.5| Méx1 1x4| 888 1525
SFIR1610-3 e 10 [3.175| 34 | 58 | 10 | 57 | 45 [ 34 |5.5(9.5[5.5| Méx1 [1x3| 716 1232
SFIR2005-4 |20 | 5 [3.175|34 | 57 [ 11|51 | 45 [ 40 |5.5|9.5[5.5| Méx1 [1x4| 999 1994
SFIR2505-4 5 [3.175] 40 | 63 | 11|51 |51 |46 [5.5[9.5] 5. M8x1 [1x4| 1119 2581
SFIR2510-4 2 10 [4.762| 46 | 72 | 12|85 |58 [52|6.5|11[6.5| M8x1 |[1x4| 1903 | 3695
SFIR3205-4 5 |3.175| 46 | 72 | 12 | 52 [ 58 | 52 | 6.5 11 | 6.5 M8x1 |1x4| 1264 | 3402
SFIR3210-4 * 10 | 6.35 |54 |88 (15|90 |70 (62| 9 | 14 8.5 M8x1 [1x4| 3092 6101
SFIR4005-4 5 |3.175(56 | 90 | 15 | 55 [ 72 | 64 | 9 | 14 |8.5| M8x1 |1x4| 1407 | 4341
SFIR4010-4 “0 10 | 6.35 | 62 [104| 18 | 93 |82 |70 | 11 |17.5 11 M8x1 1x4| 3480 7779

SFIR5010-4 [ 50 | 10 | 6.35 | 72 [114| 18 | 93 | 92 [ 82 | 11 |17.5] 11 | M8x1 |1x4| 3898 [ 10325

SFIR6310-4 | 63 | 10 | 6.35 |85 [131| 22| 98 |107| 95 | 14 | 20 [ 13 | M8x1 |[1x4| 4401 | 13611

SFIR8010-4 [ 80 | 10 | 6.35 |105(150( 22 | 98 |127(115| 14 | 20 | 13 | M8x1 |1x4| 4900 [ 17366

£ : BFUEXIES EWHIELRL.




